

CITY OF LA CROSSE

REFUSE & RECYCLING DEPARTMENT

2000 Marco Drive La Crosse, Wisconsin 54601 Phone (608) 789-7507 Fax (608) 789-7374

REFUSE & RECYCLING COORDINATOR: BRANDON SHEA

REQUEST FOR PROPOSALS LARGE ITEM COLLECTION / SPRING CLEAN-UP MAY-JUNE

The City of La Crosse is requesting proposals from refuse and recycling contractors to provide city-wide, residential collection and disposal of large items, and collection and recycling of mattresses and box springs.

Scope of Work:

- Collection of large items shall be on the same day as scheduled recycling collection.
- Collection of large items to be landfilled shall be collected with a rear end packer truck.
- Collection vehicle for mattresses and box springs is at the discretion of the contractor, but mattresses and box springs shall be covered during collection if incumbent weather to ensure materials stay dry.
- Each scheduled collection shall be limited to 5 per parcel.
- Appliances and electronics banned from landfills shall not be collected.
- Contractor shall haul and dispose of non-recyclable materials at the La Crosse County Landfill. The City shall reimburse the contractor for disposal fees and tipping fees based on weight tickets from the La Crosse County Landfill.
- All metal that can feasibly be recycled, shall be. Any revenue received by the contractor shall be retained by the contractor.
- All mattresses and box springs shall be recycled (not Refurbished) by a licensed facility. No mattresses or box springs shall be landfilled unless previous permission has been granted by the Recycling Department. The City shall reimburse the contractor for recycling fees based on tickets from the recycling facility.



CITY OF LA CROSSE

REFUSE & RECYCLING DEPARTMENT

2000 Marco Drive La Crosse, Wisconsin 54601 Phone (608) 789-7507 Fax (608) 789-7374

REFUSE & RECYCLING COORDINATOR: BRANDON SHEA

Proposed Cost of Services

The contractor shall provide the City a lump sum bid item cost to provide the services described (see below for bid options). A cost breakdown shall be included with the bid to show how the bid was calculated, separating large item collection and mattress & box spring collection. The breakdown shall be shown by hourly costs. The rates shall include all material, labor and equipment costs to provide the services described. Rates shall be held firm by the City for the term of the agreement.

Three Bid Options:

1 Month Lump Sum Collection Cost

\$75,600.00

2 Week Lump Sum Collection Cost

\$49,000.00

Han Harte

2 Week Collection + 2 Week manned drop-off Lump Sum Cost pull plus the weight at \$62.00 a ton

\$54,000.00 + \$125.00 per

Proposal Submitted by:

Gary Harter

Company:

Harter's Quick Clean Up

Submit proposals by: September 30, 2019

To:

City of La Crosse Refuse & Recycling Attn: Brandon Shea 2000 Marco Dr. La Crosse, WI 54601

Submittal via email is preferred. sheab@cityoflacrosse.org

Sincerely,

Harter's Quick Clean-Up 2850 Larson St

La Crosse, WI 54603



Phone: (608) 782-2082 Fax: (608) 782-5322

www.harters.net

Request for Proposals: Large Item collection/Spring Clean-Up (May-June)

4 Week Schedule

Rear Loading truck for Large Items/trash collection: \$185 per hour

 $185 \times 10 \text{ (hr day)} = 1850.00 \text{ Per day}$

 $$1850 \times 6 \text{ (working days in a week)} = $11,100.00 \text{ a week}$

 $$11,100 \times 4 \text{ (weeks)} = $44,400,00 \text{ a month}$

Mattress truck: \$130.00 per hour

 $130 \times 10 \text{ (hr day)} = 1300.00 \text{ Per day}$

 1300.00×6 (working days in a week) = 7.800.00 a week

\$7,800.00 x 4 (weeks)=\$31,200.00 a month

2 Week Schedule

**Rear Loading truck for Large Items/trash collection: \$235 per hour

 $235 \times 10 \text{ (hr day)} = 2350.00 \text{ Per day}$

 $$2350 \times 6 \text{ (working days in a week)} = $14,100 \text{ a week}$

 $14,100 \times 2 \text{ (weeks)} = 28,200.00 \text{ a month}$

**Mattress truck: \$130.00 per hour

 $130 \times 10 \text{ (hr day)} = 1300.00 \text{ Per day}$

\$1300.00 x 8 (working days in a week) =\$10,400.00 a week

\$10,400.00 x 2 (weeks)=\$20,800.00 a month

2 Week collection w/2 Week manned drop off

**Drop off: 10 hour a day @ \$50.00 per hour= \$500.00 Per day \$500.00 x 5 (days a week) = \$2500.00 a week \$2500.00 x 2 (weeks) = \$5000.00 a month

**Roll-off Dumpster: \$125.00 a pull plus \$62.00 a ton

** All included in the 2 week collection and 2 week manned drop off

Hilltopper

CITY OF LA CROSSE

LARGE ITEM COLLECTION / SPRING CLEAN UP 2020 PROPOSAL

	_	ARGE ITEM OLLECTION	 TRESS/BOX SPRING LLECTION	
<u>OPTIONS</u>		COST	COST	<u>TOTAL</u>
OPTION 1 - 4 WEEK CURBSIDE				
Fee for collection services (2 PASSES - 5 ITEM LIMIT/PASS)	\$	41,925.00	\$ 30,625.00	\$ 72,550.00
OPTION 2 - 2 WEEK CURBSIDE		165	131	
Fee for collection services (1 PASS - 5 ITEM LIMIT)	\$	32,175.00	\$ 22,925.00	\$ 55,100.00
OPTION 3 - 2 WEEK CURBSIDE, 2 WEEK DROP OFF SITE - 1 SITE				
Fee for 2 week curbside collection services	\$	32,175.00	\$ 22,925.00	\$ 55,100.00
Fee for (1) Drop Off site (2-3) 30Y box on site	\$	17,550.00	\$ 13,600.00	\$ 31,150.00 *
Site to be staffed by City of La Crosse.				\$ 86,250.00

The above costs do not include disposal or recycling fees. In addition, a surcharge will be added if payment is made by credit card.

* THESE COSTS ARE ESTIMATED HAUL CHARGES BASED ON 2019 DATA.

Disposal Rate Per Ton (based on today's rate)	\$	62.00
MATTRESSES / BOX SPRINGS Recycling Fee per mattress and box spring Additional Surcharges:	\$	13.75
Wet, but dried and recycled Surcharge Unsalvageable SWIC Surcharge	\$ \$	3.00 12.50

The surcharges listed above for any mattress or box spring that is Wet or SWIC - **Soiled** (more than a staining), **Wet** (>40% surface), **Infested or Crushed**, are in addition to the recycling fee. Also, since the unsalvageable SWIC mattresses and box springs will be landfilled, there will be a disposal fee of \$62.00/ton for those mattresses and box springs.

In the event, the La Crosse County Solid Waste Dept. assesses any additional fees for SWIC mattresses and box springs, those fees will be passed onto the City of La Crosse.

5 ITEMS - EACH ITEM IS CONSIDERED 1 EXCEPT: HEADBOARD/FOOTBOARD = 1 TABLE W/ CHAIRS = 1